X ARMEEOB T R EL T E R/ MEBESEH T2 %

[ G55 ]
NHERIEEE (0i) : 10°C  AM<UEEE (0a) :26°C
KHERERE (hse) :8 W/m K
FH SR - 85%
B (D) :40A
U7 e PR IR A
[55 1 8] MRAHEE DL Z7 4 — LB M) JES=HEH
0°C=0=0C 0.026

[ R ]
NTIRE=26"C FHXHEE 85% DF& SIREEZRD D,
26°C Dfiafn7xJ+=3.3637KPa
26°C  FHXHEEE 85 % DA% E=3.3637x0.85=2.8591KPa
2.8591KPa ZfufnzZ& KL T HIRE, 7720585 MR 23.3CE2155,
ZeEE B LU CREIRE (0se) X AIEE +0. 3°C(23.61C) 12k5,
FEHEE 2 IR ORI E U CTHRIEAM OB E SR (\m) 2K D D,
[5%6 18] FmiEE (0se) 23.7C
%1 @R )

A1=1/(10.0-23.7)- § £(0)d 0 £(0):23.7°C<0=10.0C
=0.026 W/m-K

RIBES (d) Z2Kk0D  (nlIfREM OEEZ RS}

D 0=0.0486 m

Dnln(Dn/Di)=2{ZAn(On-1—0n) }/h se (Bse—0a) d=(Dn—Dn-1)/2
d 1=0.015 m=15mm
R (q 1) 2R D,
ql=2n(0i—0a)/[2/(hse*Dn) +Z{In(Dn,Dn-1)/An}]
=-4.6 W/m
FHIRFE (0se) 23R D
Ose=ql/hse*D 1-nt+0a
=23.7C
Lo THW O mEE OFEMEITELWEGE S,
[ FHERES ]
[ 1 & R ERE =R (km) =0.026 W/m-K
& (q1)=-4.6 W/m
FHIEE (0se) =23.7°C
VB i/ IMRIEJES (d) =15mm



